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Question paper — Selection for the post of JE/Tele 30% PRQ
Date of Examination: 31.03.2023 Maximum Mark — 100

Duration: 02.00Hrs (10.00Hrs to 12.00HTrs)

AT _f3&2r/General Instructions:
L 99T FT 3K ST & Igal 30 &I T 9|

Read the question paper carefully before answering them.
2.Wﬁaﬁsﬁwmmmmmﬁmm HTAAR IR 93 & ar ufaat @
o, 7T 9T I qE 9fA| 3 ST FA BN BT FA F AT T A St @we 9T

B e B R s Ad

Candidates will be provided with OMR type answer sheets. The OMR answer sheet consists of two
copies, the original copy and the duplicate copy. Do not separate them. Use Blue/Black ball point pen
only for darkening. Pencils are not allowed.

3.a%3ﬂwmmmﬁﬁwmw%mﬁsﬁmwm§3ﬂtrrm3naT%,a‘r
S T F 3T Yo S A Bl seelt A & a8 s qfeaw afvered, wer ar
Wmﬁﬁmﬁﬁﬁmaﬁﬁﬁqﬁmaﬁammmwmmmmw
SHRIRT HAT FroT|

If Roll No. is found written anywhere other than the space provided in the OMR answer sheet, the
answer sheet shall be invalidated. If the answer sheet given to a candidate is damaged, torn, or
mishandled by him/her additional copies will not be given. He/She has to use the same answer sheet
only.

4.39gFd 30X (AorBor C or D) #l Shadl AR 33 GfEdar 7 U=l & GIHeT e e §

The suitable answer (A or B or C or D) is only to be darkened in the OMR answer book against the
questions.

5. 9% 9T H 110 YT Bl §1 3FHAIGaR 110 Ueat & & 1S off 100 et T Fehdl gl MAFRS
HINT # 1099 (1019 110) dhfous § 3R afy frdr 3oofigar o 100 @ 31 weat &7 a7 R
%,aqueﬁwowmﬁmmq@aTﬁawim%fmmﬂﬁmml

The question paper contain 110 questions. Candidates can choose any 100 questions from 110
questions. 10 questions (101 to 110) in official language is optional and if any candidate has
answered more than 100 questions, only the first 100 attempted questions will be taken into account
for evaluation.

6.fe o g & GUR i Al 18T & (3refa) HfeaT, Mo, e, agfawed # s fe
T 3T AT FhR HAT 3N g@ 30 R e o 3R fwelr o g @ 3a¢ & wenfa s
A B GUR AT ST R, A 39 SR &7 HodieheT ool A&7 AT STwam|

No corrections of any type is permitted (i.e.) Cutting, Overwriting, Erasing, Scoring off a ticked answer

in multiple-choice and ticking another answer and modifying the answer in any-way. In case any
correction is made, that answer shall not be evaluated at all.

7. IAd IO & AT FIE FARRIcHS 3ieheT T&T &1

There will be no negative marking for incorrect answers.

8. FAgaict 3N elaTRefAw cael 3R AaTse BT $ IR A B
Calculators and Logarithmic tables and mobile phones are not permitted.
9. fordr 8 3reEusear & AT H e FEROT DT B

In case of any ambiguity English version holds good.

10.covm19a@wﬂﬁa@ﬁ§m3nﬂaaﬂﬁa#aﬁaﬁmﬁﬁmmmmﬁ??&w
gleT 7 AR gl g0 1@ gt

In view of COVID 19 pandemic, candidates have to necessarily wear face mask and maintain physical
distancing in the examination hall.

42/63



29555@4/2023/0/o DPO/TPJ/SRIy
2]

DTMF Ried ¥ IuanT fHU &F 91e 39 B ST

No.of tones used in DTMF system?
A)8B)16 C)4 D)12

TS 4199 AR e gRI RIS [T T8 Wi d-d ! gAad I
Minimum No. of speech channels recorded by one voice logger unit?
A) 4 B)6 C)8 D)5

ThTR TREUT 3ehTs LPZOA T HATS o7
Lighting protection unit LPZ0s means?
A) Internal B) External C)Both A & B D)None of these

THATSUT BT A §

SIP stands for

(A) Session Initiation path (B) Session Initialization Protocol
(C)Session Initiation Procedure ~ (D)Session Initiation protocol

E1 AccIthH 1 3rafy e s

The duration of an E1 multiframe is milliseconds
(A)2 (B)3.9 (C)125 (D)5.9

& T6R g5, Aledhd Nellh §ex 5 e b aRId FqY 45 TP
SR SO

Accident occurred at out of home station, Medical relief Hooter will sound for 45
seconds times with a gap of 5 seconds.

(A)One (B)Two (C)Four (D)Five

Y9 H PD Muxes &1 TS B HIFpTR fbar SaT &

In Railways the PD Muxes are configured in topology
(A)Mesh (B)Linear (C) Star (D)Ring

NMS & 1T $URAT 3R RS-232 FAdX VMUX-100 % Pls | 1 Yd &

Ethernet and RS-232 connectors for NMS are located in card of VMUZX-100
(A)NIM card (B)LPC card (C)TME card (D)Tributary card

Qe dices Hfdiecd § T Sath IR U TR A8 R Hig TR &I
T 1Y |

Psophometric voltage is a measurement of noise present on a transmission
line across a telephone in millivolts.

A)Logarithimic (B)Linear (C) Indirect (D) Reverse

10.

OTDR &I 3{P&d éwﬁmmww%

OTDR can be characterized similar to optical
(A)Radar (B) Sonar (C)Detector (D) Amplifier

11.

sfoufc i FuuqeIgen e : :
Equipment earthing is associated with
(A) Current carrying conductors (B) Noncurrent carrying parts (C)Both (D) None

12.

YT ST USeF AT g1 fafead g¥iaid gfkier & U H
REREIR

Divisional Disaster Management Plan is available in the form of booklet duly signed by

(A)AGM _(B)DRM/ADRM (C)DRM__(D)GM

13.

SIS BT Had DI SIS & [o1¢ YHNHS WISfeT fobe & o RT3
fafrd=re

RDSO specification for Thermoshrink Jointing Kit for joining underground Quad cable?
(A)IRS:TC 77-2012 Rev.3  (B)IRS:TC 78-2012 Rev.1

(OYIRS-TC 79-2011 Rev.3 (D)IRS:TC 80-2012 Rev.3
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14.

| GSM-R & I9d WRAT il

The channel spacing in GSM-R will be
(A)150KHz (B) 500KHz (C) 200KHz (D)1000KHz

15.

IPV4 Tg9 | fhd fSe gld g2

How many bits are there in an IPV4 address?
(A)8 (B)16 (C)24 (D)32

16.

Tl AT IR WAN SHfaefae] & ford Siaxde Hied oiel &
Modem pair required for WAN connectivity over leased lines are
(A)Synchronous V.35 +V.35 (B) Synchronous V.35 + G.703
(C)Synchronous G.703+G.703 (D)Asynchronous V.35 + G.703

17.

g IUHIT S LAN &1 faRR $37 & foIU 3afaesd o Siivsd
3R HA B! 3AfFemd B yRafdd BT s

The device which converts electrical to optical and optical to electrical to extend the
LAN
(A)LAN Extender (B)Media Convertor (C)Line driver (D)Media access controller

18.

ROAHAYGATE W[ Ukl &l Ul HRdT 8

UTS in Railway follows the routing protocol
(A)EIGRP (B)RIP (C)Static Routing (D)OSPF

19.

I Il D1 [Shice Ja-c ARG AT 27
What is the default subnet mask of Class C?
(A)255.255.0.0 (B)255.252.0.0 (C)255.255.255.0 (D)255.0.0.0

20.

IP USY Pt JUT DT UG B 191.1.2.3

Identify the class of IP address 191.1.2.3
(A)Class A (B)Class C (C)Class D (D)Class B

21.

VMUX-100 &! Sfputc 3Tzal Ac p31 & [l TR 313 TS ardll DIP [aa

fearmarg

An eight position DIP switch has been provided on ____to set the equipment ID of
VMUX-100

(A)TME card (B)DAC card (C)LPC card (D)Motherboard

22,

EAdpifdeer Kbps g
The bit rate of B4 is ~ Kbps
(A) 139264Kbps (B)2048Kbps (C)34368Kbps (D) 8448Kbps

23.

VMUX-100 § 3fSpaq _ &ithg @) 4- Il & U H HIRPTR BT ol Yol ©

In VMUX-100 maximum of conferences can be configured as 4-party
(A)18 (B)30 (C)12 (D)08

24.

A H TJ1400, XAT4ETHIS ¢
InTejas TJ1400, XA14ET card is
(A)Cross connect card (B)Tributary card (C)Power Supply card (D)OAM card

23.

ST SIT TS H TATANT I o] REHT dlecs T &7

What is the ringing voltage of analog phones in ISDN Exchange?
(A)75V@40Hz (B)75V@35Hz (C)75V@30Hz (D) 75V@25Hz

26.

IR IR TR, 3Us ARE 3R el IH dad & ard ﬁaﬁwgﬁ
ST G- I1igq

In general, minimum distance of meters should be maintained between the OHE

masts and the telecom cable
(A)4.75 (B)S.75 (C)6.75 (D)8.75
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27| 1SS %ﬁﬁ_%ﬁﬁ%ﬁqﬁmﬁ%ﬂﬁﬁwm
SIL
Telecom cables shall be laid in pipes for a length of meters on either side
of TSS
(A)Gl and 300 (B)RCC and 300 (C)GI and 200 (D)RCC and 200
28 | 49ithd] A W, WY S e Hleg@ A dc g
In webfill mux, the station IDis set in module
(ANIM  (B)Tributory (C)Motherboard (D)Subscriber
2. |IPVUGH H UG facq ol 9= 6 o
No. of bits used in IPV6 addressis
(A)32 (B)48 (C)64 (D)128
30. B SICAISIERT Ae-gob T TUE ¢
. ___isacollection of many separate networks.
‘ (A)WAN (B)Internet (C)LAN (D)MAN
3. | IR ot 3318 gl
Unitof Jitteris
(AUl (B)Bit (C)Byte (D)Baud
32. EISCRSEIL WIHT§
ADSL broadband services is possible on
(A)Coaxial cable (B)Copper cable as well as OFC (C)Copper cable only (D)OFC only
33. | UTP/STP &d TCP/IP Acdd Higd B A 9 Haiferd 8
UTP/STP cable belong to ' layer of the TCP/IP network model
(A)Application Layer (B)Physical (C)Network (D)Datalink
34. | w1 Td H gl 87
A routing table contains?
(A) The user name of the system (B) The destination network ID
(C) The router serial number (D) The router loop back address
35. | fordl ot uRfRufa 3 oo treer & TS TRl g1 e &1 of el 81 dB
3 3ffrep gt gt
The loss offered by a fusion splice of optic fibers shall not exceed __dB under any
circumstances.
(A)0.002 (B)0.02 (©)0.2 (D)2.5
36. | 3und! oM ugd ____ udlerr fbar o o |
Before OFC laying  test has to be conducted ’
(A)Duct integrity (B)Soil integrity (C) Looptest (D)Meggering
3. |ded@dISlg__ Heedigl
Life of battery increases in i )
(A)Float (B)Boost (C)Trickle (D)Charge & Discharge
38. | o USRS FaRUI G
Total PRI transmission rate
(A)1.92Mbps (B)2.048Kbps (C)2.048Mbps (D)SMbps
39. | dc &7 U o TR P Wb T YA 1T o 87
In closed area type of speaker used are
(A)Box type (B)ISW horn type (C) 25Watt horn type (D)None of them
40. | 3RS Dl B AT DI HH B & o8 o Sl &
Loading of RE cable is done to reduce
(A)Attenuation loss (B) Crosstalk (C)Noise (D) None
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41.

VRLA ¢ &1 3ifiH I diee (ECV) &
The end cell voltage (ECV) of a VRLA cell is
(A)1.75Volt (B)I.5Volt (C)2Volt (D)3Volt

42.

UTSIRUH 31R GETTY THIhRUT b 17 Wgad atairon 3
Topology used for PRS & UTS unification is
(A)Mesh  (B)Partial mesh (C)Inverted tree and Partial mesh (D)Inverted tree

43,

IEEE & 38R 1000 BASE-T (TSI 3URIC) % 17T A &
As per IEEE the standard for 1000 BASE-T (Gigabit Ethernet) is
(A) IEEE 802.3u_(B)IEEE 802.3z (C)IEEE 802.3ab (D)IEEE 802.11a

44,

U e Ud 1 IUAT aR TaR R Bl 87

A switch establishes communication using address?
(A)Private address (B)MAC address (C)Port address (D)IP address

45.

BIC 4d & T dRb HeX 1 U el Reid UeH fba o

On each side of minor bridge a cable reserve of meters to be provided.
(A)4 (B)7 (C)6 (D)5

46.

48V S 3fTCl/Ag3rd dedt TToR &, Tlie dreds Yol vAdE

In 48V DC auto/manual battery charger, float voltage range is V/Cell
(A)1.8t02.5 (B)2.0t02.5 (C)1.8t02.3 (D)2.0to 2.3

47.

eas difsar RepTex &1 I 4 forer ST ©

Network video recorders are used in

(A)Integrated passenger Information System

(B)Both analog and IP based CCTV surveillance system
(C)Analog based CCTV surveillance system

(D)IP based CCTV surveillance system

48.

31Ut eenied FRASE PRI yomelt & SuaT 3 o el Wad fowp 3
SITZge Rl 7 T HSRUT &HaT 81t 3
Redundant array of independent disks used in IP based CCTV surveillance system has

the storage capacity in
A)Giga byte (B)Tera byte(C)Kilobyte (D)Mega byte

49.

i ot gfaerer Rk HA e

Impedance of speaker depends on
(A)Frequency (B)Shape of speaker (C)Size of Speaker (D)Current

50.

VRLA T SMF St ] TN dieee]

Charging voltage of VRLA or SMF battery is
(A)2.1 (B)22 (0)2.3 (D)2.5

51.

oY WY dlvaun REtaR Saga=iad g

Base station VHF receiver sensitivity is i
(A)25microvolt (B)15microvolt (C)0.25microvolt (D)10microvolt

52.

el dITY TARR BT STIRIST decsl 3IR e 3R g

The operating voltage and current of the Control Voice logger are and

(A)24VDC&2 Amp (B) 12VDC &2 Amp (C) 12VDC &1 Amp (D)24VDC &1 Amp

ﬁgﬂ;ﬁﬁﬁd@ﬁﬁ%ﬂ%ﬂ?ﬁ@&ﬁﬂfﬁﬁ%%ﬁ_mwmﬂm
micik ~

Connectors are used to connect control voice channels to the voice logger.
(ARJ11  (B)RJ45 (C)RS232  (D)RS485

54.

e sl & dld MR TS %19 i (I8 Ha) BT

Near end cross talk (Quad cable) between adjacent pair shall be
(A) Less than -65,dB (B) better than -65 dB (C) better than -55dB (d) better than -60 dB
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.

3TeUl-THdiuaey &1 R &8

Expand IP-MPLS
(A) Internet protocol- Multi Protocol Label Switching
(B) Internet protocol- Multi Protocol Leased Switching
(C) Internet protocol- Multi Protocol Label Service

(D) Internet protocol- Multi Protocol Line Switching

56.

P UTaR Hiex B ¥ Phd UTaR Uarid B BT 9P ed ol &

Optical power meter has got the option for displaying optical power in
(A) dBm or Micro watt (B) dBm only (C) Micro watt only (D) dBm or pW

57

q@ﬁﬁﬁﬁ%gﬁ%@ﬁ%ﬁmmﬁwﬁaﬁmﬁ
|

Surges involve voltages and currents which are than the working
voltages and currents
(A) Very low (B) Lower (C) Equal (D) Higher

58.

4ol &1 gedl U gratreres €, R ot o1t 1 o Remones wnem & w0 & g a1
PRU § Hifh | |

Even though the earth is a bad conductor, the reason for choosing earthing as a )
protective means is because ‘
(A) Earth has high conductivity (B) Earth is an equipotential Surface
(C) Earth is circular in shape (D) None of the above |

59.

TejasTI1400 XA14ET ®T8 § UG HA1
In TejasTJ1400 XA14ET card provides
(A)28Elinterface with LFH connectors (B)21E1 interface with LFH connectors
(C)4Elinterface with RJ45 connectors (D) 32E1 interface with LFH connectors

60.

BIORAId U Jedd & B! GAIYT TR T Iq1eA ©

Firewall is means to ensure the of a network
(A) Performance (B) Reliability (C) Security (D) None of the above

61.

3R BT IUAN ®I Wi & o [P emar g

Routers are used to connect
(A) Same networks (B) Different networks (C) Similar LAN network (D) None

62.

TR SR WS
ART frequency MHz
(A)146.875 (B)147.875 (C)147.975 (D)146.975

63.

URITASIR BT fIXTR B3 3R 37H e U o7

Expand XLR and how many pins it has? :
(A)External line Return with 3 pins (B)External live Return with 3 pins
(C ) External line Return with 2 pins (D) External live Return with 2 pins

64.

e are b HIH ¥ IHiUdh U J YD Scxthd R (030
DI P Y FIR BT

The display board shall communicate with control console on optically isolated interface
through '

65.

(A) PDCH (B) MDCH (C)Server (D)Switch
THTAYTCY AT 3mgf g

SMPS switching frequency is

(A)Between 20-200Hz (B)Greater than 20KHz
(C)Greater than 20MHz (D)Greater than 100MHz

66.

IPIS H U RS485 Had I by aTs gIHI A1fRT|

The maximum length of RS485 cable used in IPIS should be
(A)1200m  (B)ISm  (C)1000m (D)500m

47/63




2955925/2023/0/o DPO/TPJ/SRIly
0

/

68.

67. w@ﬂﬁ@@éﬁﬁ%ﬂ%ﬁ%@mmwmm%

What type of signalling used in ISDN Exchanges?

(A)E&M  (B)Loop (C)CAS (D) CCS7

WDhTeT R r e wf$e & mream @ om ax e a7
SCADA system is operating through control circuit?
(A) Section (B) Traction power (C) Remote (D) Traction Loco

69.

CHIPTH Hae T Hedex B 1o Wied A 9o Tl gl

The material used for conductor in telecom cables is high conductivity .
(A)Insulated copper (B) Annealed copper (C) Silver coated copper (D) Aluminium
coated copper

70.

50 STg! el S1S et & 373 oS &1 1 BIS 1 57

What is the colour code of 37th pair in 50 pair switch board cable
(A)Orange & red (B) Blue & red (C) Green & red (D) Slate & white

CallebTH i 7 A.C SaR e gRT Sgav HUIHT & HRUIBIdT &

The induction by A.C traction system in Telecom circuits is due to couplings
(A) Electrostatic and galvanic (B) Electromagnetic and transformer
(C) Electric and magnetic (D) Electrostatic and electromagnetic

72.

FSfoee ot Wice AibeR § U/ Wb Whee &1 Tt i T T s

In digital cable fault locator, which mode is used to find out open/ short circuit fault?
(A) Low insulation (B) Insulation resistance (C) Pulse echo reflection (D) Foreign
potential

1T 9l Sl AReR IS & farT 1 el % Tl & FHEard! gl

Slave clocks which cannot function without the master clock are called
(A)Impulse clocks (B) Real time clock (C) Stand alone clocks (D) Driver clock

74.

UTaR Wie S HISYeR fOwiR @1 Toresr gl
Power plants which have the scope for modular expansion are
(A)Thyristor controlled (B) Ferro-resonant (C) Linear (D) SMPS

75.

VAR S H Il TR fSarsy &l 3= Frafited Rrfifes gt o1
THIfAd e 1 TRy

Insertion of surge protection device in telecommunication installation should not affect
the following parametric values
(A)Insulation resistance and series resistance
(B)Capacitance and near end cross talk

(C) Insertion loss ,Return loss and current response time
(D) All of the above

76.

U/G &T8 e Sargi+i fbe o Aeh A TR g ]

Shelf life of U/G quad cable jointing kit is months.
(A)I2 (B) 24 (C) 36 (D) 48

17

oI o s Noet SfaRTEIT WR R Wiepd da® 5, Yiow 7 Rren A qur 9§
R TTy 1 oft @y g |

Since VOIP is internationally accepted technology, future improvement in the system
shall also benefit the TCCS.

(A)True (B) False

78.

g Rfei &7 RERPIKCIE
Loop signalling is extended from
(A) subscriber to subscriber (B) subscriber to exchange
(C) exchange to subscriber (D) exchange to exchange
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79.

<hUIe & o1 SIP & foh UicToptar a1 Suaii fpar o =7

What protocol is used in SIP for transport?
(A)RTP (B)RTCP (C) RMP (D) CRTP

80.

mﬁww@ﬁﬁ_ﬁmﬁwmwﬁamﬁ%ﬁﬂm
fparSmar g |

Generally Light sources are provided to emit light at power levels (A) 0dBM or -
3dBm (B) 0dBM or -6dBm (C) 0dBM or -7dBm (D) 3dBM or -7dBm

81.

I 7 FEETS 3 3o ok @ Coiq Uys QA ol Gl ol B

High rate of charging or discharging leads to problem of in LA acid cell.
(A) Sulphation (B) Loss of Capacity (C) High density of electrolyte (D) Buckling

82.

SIXil dledSt &t GHft iecw & URkafd ®al o

converts DC voltage to AC voltage
(A)Rectifier (B)Invertor (C) Amplifier (D) Transformer

83.

Heb BT HIE A1 82

The acronym for MAC is?

(A) Media Access configuration (B) Main Access control

(C) Media Access control (D) Main access configuration ’

84.

CPU ! URIRIAT UTaR 1 oW B3 & 11T CPU 3R RAM & o1 199 & 9 1 aah]
QUIRT fhar 1T 22

Which of the following is used between CPU and RAM to speed up the processing
power of a CPU?

85.

(A) Cache Memory (B) Virtual Memory (C) DRAM (D) Flash Memory
a9 o 9 T STRfeT Ren 78 o7

Which of the following is not an operating system?

86.

(A)LINUX_(B)DOS (C) ORACLE (4)WINDOWS
CBIIR PIGIIATH__ del sl

The other name of isolation transformer is called as
(A)1:1 Transformer (B)Phantom transformer (C) Both A&B (D) None

87.

3RS H SFHICRA CIBITR 3T Diga bl i TSS BT SR ST STl 82

In RE, isolation transformer ohms coil is connected towards block side?
(A) 1120 (B) 470 (C) 360 (D) 120

88.

DMTR @1 &R UHRT SSE §RT T 3R ge1&Re bl ST ey

DMTR should be verified and signed by store in charge SSE )
(A) Once in week (B) Once in fortnight (C) Once in month (D) Once in year

89.

Uit 1 Heers?

PAC means?

(A) Party Assurance certificate (B) Proprietary Article certificate (C) Private Article
certificate (D) Preparatory Assurance certificate

90.

31U fAfdert gem & fore I g saf R et @ 2

Normal notice period for calling open tenders?
(A)30 Days (B)45 Days (C) 14 Days (D) 21Days

91.

freTie srgefy SIRY STR e B & a1G TATG [T off Gobell 27

Non performing contract can be terminated after issuing and notice?
(A) 21 days & 48 Hrs (B) 15 days & 24 Hrs (C) 15 days & 48 Hrs (D) 7 Days & 48 Hrs

92.

YR YAd |, Geit (fder a8 S ol 8 vid @ile 4 3 31 gl
In Indian Railways, Open tender is adopted when the purchase value is more

than

(A)10 Lakhs (B) 15 Lakhs (C) 25 Lakhs (D) 20 Lakhs
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93.

e & fore g uos okt fosan sran 21

Form suspension the following form is issued
(A) SF-5 (B) SF-1(C) SF-9 (D)SF-11

94.

o1d RN TYad (HSRUY) AT & 3faiid 3Tal o
Commissioner of Railway Safety (CRS) belongs to the ministry of
(A)Railways (B)Labour (C)Civil Aviation (D)Surface Transportation

95.

NAIR &1 T 314 §

What does the abbreviation NAIR stands for
(A) National Administration of Indian Railways
(B)National Administrative Institute of Railway
(C) National Abritatory Institute of Railways
(D) National Academy of Indian Railways

96.

MACPS &1 Bd BiH T 87

Full form of MACPS?

(A)Modern Assured Career Progression Section
(B)Modified Assured Career Progression Scheme
(C)Monitored Assured Career Progression Scheme
(D)Money Assured Career Progression Scheme

97.

HOER a*iehRuT B URGdH &1 SHf o BT SMUDBR fbdl 82

Who has the right to permit changes in HOER classification?
A) Principal Chief Personnel Officer (B)General manager
(C)Divisional Railway manager - (D)Senior Divisional Personnel manager

98.

AT YT (E1Q) BT SIGT STH DR B THT T I T 811 B dRIE & §1G B fobat
fet 31 &2

Time limit for submission of claim of travelling allowance (TA) is days succeeding the
date of completion of journey?

99.

(A)60 Days (B)30 Days (C) 90 Days (D) 120 Days
; ds gl

Censure is penalty.
(A)Major (B) Minor (C) Both A&B (D) None

100.

ST $FYF IR Aol

Duty pass is issued in the form of
(A)Metal pass (B) Card pass (C) Check pass (D) All

101.

3{1adT g H et yremsif o1 mfera fosan man g2
How many languages is incorporated in 8th schedule?
(A)22(B) 12 (C) 16 (D)8

102.

f&dt afafa & sreme P &7

Who is the chairman of central Hindi Committee .
(A)President (B)PM (C)Governor (D)MR

103.

ISTHTST BT T PRIGH D TR BT o7

Who prepares the annual programme of official language?

(A) Ministry of Railways  (B) Ministry of Defence

(C) Ministry of Home affairs (D) Ministry of Information and Broadcasting

104.

TR ISTHTYT IFAfA Bt 93h! Pt 3Tafdiesdr = gl 82

What is the periodicity of the meetings of Town Official Language Committee?
(A)Once in a month (B) Once in 6 months (C) Once in 3 months (D) Yearly Once

105.

Td® OId "feal foay &9 7/ Srar g2

When is “Hindi day” celebrated every year?
(A)14" September (B)15" September (C)14™ November (D)16™ September
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106.

aY 1956 T 96 X JoIc &I (3l SidTe JUR 1ol T-T Id I Tl I a7

Who was the Railway Minister when the Hindi Translation of Railway Budget was
prepared in the year 19562

(A) Shri Jawaharlal Nehru (B) Shri Lal Bahadur Shastri

(C) Smt Indira Gandhi (D) Shri Gulzarilal Nanda

107.

U a9 H fobe1 aR & 31 TRlef @Ria UiRIe] 1 Brehe) SRS B ol 87

How many times Hindi examinations (except Intensive Training) are conducted in a
year?
(A)2 B)1 (C)3 (D)4

108.

RISTHTST T & AR YR 741 o1 feba &1l A aeliehd Toha 71T 87

How many Regions Indian states have been classified, according to official Languages
Rules?

(A) 2 (b)5 (C)4 (D)3

109.

B TRIET I B & §1G Bls HHAR] 7ebG JREPR P 11T Hd UTF ST

When will an employee become eligible for Cash Award after passing Hindi
Examinations?

(A) get above 35% in written (B) get above 45% in written

(C) get above 55% in written (D) get above 60% in written

110.

T AT IS 3 fbde 9ed gid 22

How many members are there in the Parliamentary Committee on Official Language?
(A)30 (B)20 ()10 (D)35
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